
PACKAGE CONTENT

MOUNTING HARDWARE ASSEMBLY VIDEO

14x

Enjoy the outdoor life!

Barneveld, Netherlands
Phone: + 31 6 51920965 
E-mail: info@comfychair.nl
Website: www.comfychair.nl

20x

2x

2x

2x

1x

2x

7xA

F

B

C DE

4X40

4X30

Wood
Foot Stool
CFO 500

Watch the video

https://youtu.be/LMp_hnhjGFY


Barneveld, Netherlands
Phone: + 31 6 51920965 
E-mail: info@comfychair.nl
Website: www.comfychair.nl

Enjoy the outdoor life!

ASSEMBLY INSTRUCTIONS

Step 1 | The first slats 
•	 Pay attention: there are two lengths of screws.
•	 Place the two round parts A on a flat surface, with 

the notches facing up. 
•	 Place one of the slats B in the second notch from 

below, with the countersunk holes facing up. The 
slat should fit perfectly into the notches and the 
outside of the slat should be aligned with the 
outside of the notches.  

•	 Secure the slat with a 4x40 mm screw on each 
side. 

•	 Secure slat B (with the logo) on the other side of 
the footstool in the same way, also in the second 
notch from the bottom.

Step 2 | The remaining slats
•	 Place the three slats B in the notches at the 

top of the footstool and secure with 4x40 mm 
screws (the large ones).

•	 Place the last two slats B in the two lower 
notches of the footstool and secure with 4x30 
mm screws (the small ones).

Before you start
•	 Carefully unpack the package and check if all 

components are present.
•	 Required for assembly: cordless drill and 

hammer. The bit for the drill machine is 
included in the bag of screws. 

•	 We recommend that all fixing points will be 
glued with the provided wood construction 
glue. One tube of glue is sufficient for three 
chairs. 

•	 Due to the drying of the glue you can only coat 
the foot stool with oil after assembling it. 

1x

4x

1x

A

A
B

B

A

2x

2x

B

Wood
Foot Stool
CFO 500



Barneveld, Netherlands
Phone: + 31 6 51920965 
E-mail: info@comfychair.nl
Website: www.comfychair.nl

Enjoy the outdoor life!

ASSEMBLY INSTRUCTIONS

Stap 5 | Mounting table legs
Take both assembled legs and attach them to the 
inside of the footstool with four 4x30mm screws 
on each side.

Step 4 | Leg 2
•	 Turn the assembled part over. Slat (E) (that 

is already assembled) should be facing 
downwards. Use slat F to make sure the 
assembly part lies flat.

•	 Place the remaining slats C and D on top of the 
assembled part, with the countersunk holes 
facing down.

•	 Place the remaining slat E on top of C and 
D, with the countersunk holes facing up. 
Assemble the boards exactly the same as the 
mounted part. Make sure that the distance 
from slat (E) is also about 2.5 cm from the 
bottom.

•	 Secure E with two 4x30 mm screws on each 
side.

Step 3 | Leg 1
•	 Place one slat C and one slat D on a flat surface 

with the countersunk holes facing down. 
•	 Place one slat E 2.5 cm from the bottom on top 

of C and D, with the countersunk holes facing 
up. The outermost edges of slat E should be 
aligned with the oudside edge of C and D. 

•	 Fasten E with two 4x30 mm screws on each 
side.

•	 Tip: To assemble at right angles, you can use 
the second batten E as an aid. Do not attach!

2,5 cm

E

E

E

DC

DC

2x 2x

4x

4x

F

Do not attach!

Inside

Wood
Foot Stool
CFO 500



Barneveld, Netherlands
Phone: + 31 6 51920965 
E-mail: info@comfychair.nl
Website: www.comfychair.nl

Enjoy the outdoor life!

ASSEMBLY INSTRUCTIONS

Step 6 | Slat F
Place slat F in the middle of the slats E and secure 
it from the outside through the slats E with two 
4x40 mm screws on each side.

Step 7 | Furniture gliders
Use a hammer to attach the 4 furniture glides 
under the foot stool legs.

Finished!
Enjoy your Foot Stool CFO 500!

E

F

E

2x2x

Wood
Foot Stool
CFO 500


